



Refinements of some numerical radius inequalities for Hilbert space operators

Mamata Rani Jena^a, Namita Das^a, Satyajit Sahoo^{b,*}

^aP.G. Department of Mathematics, Utkal University, Vanivihar, Bhubaneswar-751004, India.

^bStatistics and Mathematics Unit, Indian Statistical Institute, R. V. College Post, Bangalore 560059, India

Abstract. In this article, we present some refinements of numerical radius inequalities for operators on Hilbert space. Further, we also obtain some new upper bounds for the numerical radius of the Cartesian decomposition of operators which improves the existing bounds.

1. Introduction

Let \mathcal{H} be a complex Hilbert space with an inner product $\langle \cdot, \cdot \rangle$ and the corresponding norm $\|\cdot\|$. Let $\mathcal{L}(\mathcal{H})$ be the C^* -algebra of all bounded linear operators from \mathcal{H} into itself. In the case when $\dim \mathcal{H} = n$, we identify $\mathcal{L}(\mathcal{H})$ with the matrix algebra \mathbb{M}_n of all $n \times n$ complex matrices. An operator $A \in \mathcal{L}(\mathcal{H})$ is said to be positive, and denoted $A \geq 0$, if $\langle Ax, x \rangle \geq 0$ for all $x \in \mathcal{H}$, and is called positive definite, denoted $A > 0$, if $\langle Ax, x \rangle > 0$ for all non zero vectors $x \in \mathcal{H}$.

The *numerical range* of $T \in \mathcal{L}(\mathcal{H})$ is defined as

$$W(T) = \{ \langle Tx, x \rangle : x \in \mathcal{H}, \|x\| = 1 \}$$

and the *numerical radius* of T , denoted by $w(T)$, is defined by $w(T) = \sup\{|z| : z \in W(T)\}$.

It is known that the set $W(T)$ is a convex subset of the complex plane and that the numerical radius $w(\cdot)$ is a norm on $\mathcal{L}(\mathcal{H})$; being equivalent to the usual operator norm $\|T\| = \sup\{\|Tx\| : x \in \mathcal{H}, \|x\| = 1\}$. In fact, for every $T \in \mathcal{L}(\mathcal{H})$,

$$\frac{1}{2}\|T\| \leq w(T) \leq \|T\|. \tag{1}$$

The inequalities in (1) are sharp. If $T^2 = 0$, then the first inequality becomes an equality, on the other hand the second inequality becomes an equality if T is normal. In fact, for a nilpotant operator T with $T^n = 0$, Haagerup and Harpe [4] showed that $w(T) \leq \|T\| \cos(\pi/(n+1))$. In particular, when $n = 2$, we get the reverse inequality of the first inequality in (1). For basic information about numerical radius one can

2020 Mathematics Subject Classification. 47A12; 47A30; 47A63.

Keywords. Numerical radius; positive operator; McCarthy inequality

Received: 11 May 2022; Revised: 17 July 2022; Accepted: 26 July 2022

Communicated by Dragan S. Djordjević

* Corresponding author: Satyajit Sahoo

Email addresses: mamata92mama@gmail.com (Mamata Rani Jena), namitadas440@yahoo.co.in (Namita Das), satyajitsahoo2010@gmail.com (Satyajit Sahoo)

refer [3]. The author's of [9, 11] improved the inequality (1) which is stated in the inequality (2). If $T \in \mathcal{L}(\mathcal{H})$, then

$$w(T) \leq \frac{1}{2} \| |T| + |T^*| \| \leq \frac{1}{2} (\|T\| + \|T^2\|^{1/2}), \tag{2}$$

where $|T| = (T^*T)^{1/2}$ is the absolute value of T , and

$$\frac{1}{4} \| T^*T + TT^* \| \leq w^2(T) \leq \frac{1}{2} \| T^*T + TT^* \|. \tag{3}$$

The inequalities in (2) refines the second inequality in (1). For applications of these inequalities one can refer [9, 10]. Let $T = P + iQ$ be the Cartesian decomposition of T , then P and Q are self-adjoint, and $T^*T + TT^* = 2(P^2 + Q^2)$. Thus the inequality (3) can be written as

$$\frac{1}{2} \| P^2 + Q^2 \| \leq w^2(T) \leq \| P^2 + Q^2 \|, \tag{4}$$

or equivalently,

$$\frac{1}{4} \| (P + Q)^2 + (P - Q)^2 \| \leq w^2(T) \leq \frac{1}{2} \| (P + Q)^2 + (P - Q)^2 \|. \tag{5}$$

Further generalizations of the first inequality in (2) and the second inequality in (3) have been proved in [1]. It has been shown that if $T, S \in \mathcal{L}(\mathcal{H})$, $0 < \mu < 1$ and $r \geq 1$. Then

$$w^r(T) \leq \frac{1}{2} \| |T|^{2\mu r} + |T^*|^{2(1-\mu)r} \|. \tag{6}$$

$$w^r(T + S) \leq 2^{r-2} \| |T|^{2r\mu} + |T^*|^{2r(1-\mu)} + |S|^{2r\mu} + |S^*|^{2r(1-\mu)} \|. \tag{7}$$

Kittaneh [11] proved a general numerical radius inequality which states that if $A, B, C, D, S, T \in \mathcal{L}(\mathcal{H})$, $0 < \mu < 1$, then

$$w(ATB + CSD) \leq \frac{1}{2} \| A|T^*|^{2(1-\mu)}A^* + B^*|T|^{2\mu}B + C|S^*|^{2(1-\mu)}C^* + D^*|S|^{2\mu}D \|. \tag{8}$$

In particular,

$$w(AB \pm BA) \leq \frac{1}{2} \| A^*A + AA^* + B^*B + BB^* \|. \tag{9}$$

We refer the reader to the recent articles [1, 11–15, 17] for different generalizations, refinements and applications of numerical radius inequalities.

The objective of the paper is to present some refinement's of Kittaneh's inequality. The organization of the article is as follows. After presenting some results from the literature which are required to prove our main results; which include certain generalized refinements of numerical radius inequalities for operators on Hilbert space. In particular, we generalize and refine the inequalities (3) and (5).

2. Preliminaries

The first needed inequality is the following generalization of the mixed Cauchy-Schwarz inequality [8, Theorem 1].

Lemma 2.1. *Let $A \in \mathcal{L}(\mathcal{H})$ and let f and g be non-negative continuous functions on $[0, \infty)$ satisfying the identity $f(t)g(t) = t$ for all $t \in [0, \infty)$. Then*

$$|\langle Ax, y \rangle| \leq \|f(|A|x)\| \|g(|A^*|)y\|$$

for all x, y in \mathcal{H} .

In 1952, Kato [6] showed the mixed Schwarz inequality, which asserts

Lemma 2.2. *Let $A \in \mathcal{L}(\mathcal{H})$, and $0 \leq \mu \leq 1$. Then*

$$|\langle Ax, y \rangle|^2 \leq \langle |A|^{2\mu} x, x \rangle \langle |A|^{2(1-\mu)} y, y \rangle \quad (10)$$

for the vectors $x, y \in \mathcal{H}$, where $|A| = (A^*A)^{1/2}$.

When dealing with inner product inequalities, the following inequality becomes handy [2, Theorem 1.2]:

$$f(\langle Ax, x \rangle) \leq \langle f(A)x, x \rangle, \quad (11)$$

valid for the convex function $f : J \rightarrow \mathbb{R}$, the self adjoint operator A with spectrum in J and the unit vector $x \in \mathcal{H}$. The inequality (11) is reversed when f is concave. As a consequence of this inequality, we obtain the following celebrated McCarthy inequality.

Lemma 2.3. *Let $A \in \mathcal{L}(\mathcal{H})$, $A \geq 0$ and $x \in \mathcal{H}$ be a unit vector. Then*

- (i) $\langle Ax, x \rangle^r \leq \langle A^r x, x \rangle$ for $r \geq 1$;
- (ii) $\langle A^r x, x \rangle \leq \langle Ax, x \rangle^r$ for $0 < r \leq 1$.

The following lemma is an immediate consequence of the spectral theorem for self-adjoint operators. For generalizations of this lemma, one can refer [8].

Lemma 2.4. *Let $A \in \mathcal{L}(\mathcal{H})$ be self-adjoint, and let $x \in \mathcal{H}$ be any vector. Then*

$$|\langle Ax, x \rangle| \leq \langle |A|x, x \rangle.$$

The following lemma proved by Kian [7] for positive operators and $r \geq 2$.

Lemma 2.5. *Let $A \in \mathcal{L}(\mathcal{H})$ be a positive operator and $x \in \mathcal{H}$ be any unit vector. Then*

$$\langle Ax, x \rangle^r \leq \langle A^r x, x \rangle - \langle |A - \langle Ax, x \rangle|^r x, x \rangle, \text{ for } r \geq 2. \quad (12)$$

The following lemma is a consequence of the convexity of the function $f(t) = t^r, r \geq 1$.

Lemma 2.6. *Let a_i be a positive real number, $1 \leq i \leq n$. Then for each $r \geq 1$*

$$\left(\sum_{i=1}^n a_i \right)^r \leq n^{r-1} \sum_{i=1}^n a_i^r \text{ for all } r \geq 1.$$

The following lemma is a consequence of the classical Jensen inequality concerning the convexity or the concavity of certain power functions [5].

Lemma 2.7. *For $a, b \geq 0$ and $0 < \mu < 1$ and $r \neq 0$,*

- (i) $(\mu a^r + (1-\mu)b^r)^{\frac{1}{r}} \leq (\mu a^s + (1-\mu)b^s)^{\frac{1}{s}}$, for $r \leq s$,
- (ii) $a^\mu b^{1-\mu} \leq \mu a + (1-\mu)b \leq (\mu a^r + (1-\mu)b^r)^{\frac{1}{r}}$ for $r > 0$,
- (iii) $(a^s + b^s)^{\frac{1}{s}} \leq (a^r + b^r)^{\frac{1}{r}}$ for $0 < r \leq s$.

3. Main Results

Due to the theme of the results, we will split our main results into two subsections.

3.1. Refinements of numerical radius inequalities

The first main result is the following.

Theorem 3.1. Let $T \in \mathcal{L}(\mathcal{H})$, $0 < \mu < 1$ and $r \geq 2$. Then

$$w^r(T) \leq \frac{1}{2} \| |T|^{2\mu r} + |T^*|^{2(1-\mu)r} \| - \inf_{\|x\|=1} \xi(x),$$

where $\xi(x) = \frac{1}{2} (\| |T|^{2\mu} - \langle |T|^{2\mu} x, x \rangle \|^r + \| |T^*|^{2(1-\mu)} - \langle |T^*|^{2(1-\mu)} x, x \rangle \|^r) x, x$.

Proof. For every unit vector $x \in \mathcal{H}$, we have

$$\begin{aligned} |\langle Tx, x \rangle| &\leq \langle |T|^{2\mu} x, x \rangle^{\frac{1}{2}} \langle |T^*|^{2(1-\mu)} x, x \rangle^{\frac{1}{2}} \\ &\leq \left(\frac{\langle |T|^{2\mu} x, x \rangle^r + \langle |T^*|^{2(1-\mu)} x, x \rangle^r}{2} \right)^{\frac{1}{r}} \\ &\leq \left[\frac{1}{2} \left(\langle |T|^{2\mu r} x, x \rangle - \langle |T|^{2\mu} - \langle |T|^{2\mu} x, x \rangle \|^r x, x \rangle + \langle |T^*|^{2(1-\mu)r} x, x \rangle - \langle |T^*|^{2(1-\mu)} - \langle |T^*|^{2(1-\mu)} x, x \rangle \|^r x, x \rangle \right) \right]^{\frac{1}{r}} \\ &= \frac{1}{2^{\frac{1}{r}}} \left[\left(\langle (|T|^{2\mu r} + |T^*|^{2(1-\mu)r}) x, x \rangle - \langle |T|^{2\mu} - \langle |T|^{2\mu} x, x \rangle \|^r x, x \rangle - \langle |T^*|^{2(1-\mu)} - \langle |T^*|^{2(1-\mu)} x, x \rangle \|^r x, x \rangle \right) \right]^{\frac{1}{r}} \\ &= \frac{1}{2^{\frac{1}{r}}} \left[\langle (|T|^{2\mu r} + |T^*|^{2(1-\mu)r}) x, x \rangle - \left(\langle |T|^{2\mu} - \langle |T|^{2\mu} x, x \rangle \|^r + \| |T^*|^{2(1-\mu)} - \langle |T^*|^{2(1-\mu)} x, x \rangle \|^r \right) x, x \right]^{\frac{1}{r}}, \end{aligned}$$

where the first inequality follows from Lemma 2.2, the second inequality follows from Lemma 2.7, and the third inequality follows from Lemma 2.5.

Thus,

$$\langle Tx, x \rangle^r \leq \frac{1}{2} \langle (|T|^{2\mu r} + |T^*|^{2(1-\mu)r}) x, x \rangle - \xi(x),$$

where $\xi(x) = \frac{1}{2} (\| |T|^{2\mu} - \langle |T|^{2\mu} x, x \rangle \|^r + \| |T^*|^{2(1-\mu)} - \langle |T^*|^{2(1-\mu)} x, x \rangle \|^r) x, x$.

Taking supremum over all unit vector in \mathcal{H} , we have

$$w^r(T) \leq \frac{1}{2} \| |T|^{2\mu r} + |T^*|^{2(1-\mu)r} \| - \inf_{\|x\|=1} \xi(x).$$

□

Remark 3.2. In Theorem 3.1, $\inf_{\|x\|=1} \xi(x) = 0$ if and only if

$$0 \in W(\| |T|^{2\mu} - \langle |T|^{2\mu} x, x \rangle \|^r + \| |T^*|^{2(1-\mu)} - \langle |T^*|^{2(1-\mu)} x, x \rangle \|^r).$$

As a special case of Theorem 3.1, which leads to sharper than the inequality (3) for $\xi(x) > 0$. By putting $\mu = \frac{1}{2}$ and $r = 2$ in Theorem 3.1 we have the following corollary which is the refinement of Kittaneh’s inequality (3).

Corollary 3.3. Let $T \in \mathcal{L}(\mathcal{H})$, then

$$w^2(T) \leq \frac{1}{2} \| T^*T + TT^* \| - \inf_{\|x\|=1} \xi(x),$$

where $\xi(x) = \frac{1}{2} (\| |T| - \langle |T| x, x \rangle \|^2 + \| |T^*| - \langle |T^*| x, x \rangle \|^2) x, x$.

The following theorem is another generalizations and refinement of Kittaneh’s inequality (3) for $\xi(x) > 0$.

Theorem 3.4. Let $T \in \mathcal{L}(\mathcal{H})$, $0 < \mu < 1$ and $r \geq 2$. Then

$$w^{2r}(T) \leq \|\mu|T|^{2r} + (1 - \mu)|T^*|^{2r}\| - \inf_{\|x\|=1} \xi(x),$$

where $\xi(x) = \langle (\mu|T|^2 - \langle |T|^2x, x \rangle)^r + (1 - \mu)|T^*|^2 - \langle |T^*|^2x, x \rangle)^r x, x \rangle$.

Proof. For every unit vector $x \in \mathcal{H}$, we have

$$\begin{aligned} & |\langle Tx, x \rangle|^2 \\ & \leq \langle |T|^{2\mu}x, x \rangle \langle |T^*|^{2(1-\mu)}x, x \rangle \\ & \leq \langle |T|^2x, x \rangle^\mu \langle |T^*|^2x, x \rangle^{(1-\mu)} \\ & \leq (\mu \langle |T|^2x, x \rangle^r + (1 - \mu) \langle |T^*|^2x, x \rangle^r)^{\frac{1}{r}} \\ & \leq \left[\mu \left(\langle |T|^{2r}x, x \rangle - \langle |T|^2 - \langle |T|^2x, x \rangle^r x, x \rangle \right) + (1 - \mu) \left(\langle |T^*|^{2r}x, x \rangle - \langle |T^*|^2 - \langle |T^*|^2x, x \rangle^r x, x \rangle \right) \right]^{\frac{1}{r}} \\ & = \left[\mu \langle |T|^{2r}x, x \rangle + (1 - \mu) \langle |T^*|^{2r}x, x \rangle - \mu \langle |T|^2 - \langle |T|^2x, x \rangle^r x, x \rangle - (1 - \mu) \langle |T^*|^2 - \langle |T^*|^2x, x \rangle^r x, x \rangle \right]^{\frac{1}{r}} \\ & = \left[\langle (\mu|T|^{2r} + (1 - \mu)|T^*|^{2r})x, x \rangle - \langle (\mu|T|^2 - \langle |T|^2x, x \rangle^r + (1 - \mu)|T^*|^2 - \langle |T^*|^2x, x \rangle^r)x, x \rangle \right]^{\frac{1}{r}}, \end{aligned}$$

where the first inequality follows from Lemma 2.2, the second inequality follows from Lemma 2.3, the third inequality follows from Lemma 2.7, and the fourth inequality follows from Lemma 2.5.

Thus,

$$\langle Tx, x \rangle^{2r} \leq \langle (\mu|T|^{2r} + (1 - \mu)|T^*|^{2r})x, x \rangle - \inf_{\|x\|=1} \xi(x).$$

Taking supremum over $x \in \mathcal{H}$, we have

$$w^{2r}(T) \leq \|\mu|T|^{2r} + (1 - \mu)|T^*|^{2r}\| - \inf_{\|x\|=1} \xi(x),$$

where $\xi(x) = \langle (\mu|T|^2 - \langle |T|^2x, x \rangle)^r + (1 - \mu)|T^*|^2 - \langle |T^*|^2x, x \rangle)^r x, x \rangle$. \square

3.2. Numerical radius inequalities for Cartesian decomposition of operators

In this subsection we present some numerical radius inequalities but with the Cartesian decomposition of operators.

Theorem 3.5. Let $T \in \mathcal{L}(\mathcal{H})$ with Cartesian decomposition $T = P + iQ$ and let $r \geq 2$. Then

$$w^r(T) \leq 2^{\frac{r}{2}-1} \| |P|^r + |Q|^r \| - \inf_{\|x\|=1} \xi(x),$$

where $\xi(x) = 2^{\frac{r}{2}-1} \langle (|P| - \langle |P|x, x \rangle)^r + (|Q| - \langle |Q|x, x \rangle)^r x, x \rangle$.

Proof. For every unit vector $x \in \mathcal{H}$, using Lemma 2.7, Lemma 2.4 and Lemma 2.5, we have

$$\begin{aligned} \frac{|\langle Tx, x \rangle|}{\sqrt{2}} &= \left(\frac{\langle Px, x \rangle^2 + \langle Qx, x \rangle^2}{2} \right)^{\frac{1}{2}} \\ &\leq \left(\frac{|\langle Px, x \rangle|^r + |\langle Qx, x \rangle|^r}{2} \right)^{\frac{1}{r}} \\ &\leq \frac{1}{2^{1/r}} \left(\langle |P|x, x \rangle^r + \langle |Q|x, x \rangle^r \right)^{\frac{1}{r}} \\ &\leq \frac{1}{2^{1/r}} \left[\left(\langle |P|^r x, x \rangle - \langle |P| - \langle |P|x, x \rangle|^r x, x \rangle + \langle |Q|^r x, x \rangle - \langle |Q| - \langle |Q|x, x \rangle|^r x, x \rangle \right) \right]^{\frac{1}{r}} \\ &= \frac{1}{2^{1/r}} \left[\langle (|P|^r + |Q|^r)x, x \rangle - \langle (|P| - \langle |P|x, x \rangle|^r + |Q| - \langle |Q|x, x \rangle|^r)x, x \rangle \right]^{\frac{1}{r}}. \end{aligned}$$

Thus,

$$|\langle Tx, x \rangle|^r \leq 2^{\frac{r}{2}-1} \langle (|P|^r + |Q|^r)x, x \rangle - 2^{\frac{r}{2}-1} \langle (|P| - \langle |P|x, x \rangle|^r + |Q| - \langle |Q|x, x \rangle|^r)x, x \rangle.$$

Taking supremum over $x \in \mathcal{H}$ with $\|x\| = 1$, we have

$$w^r(T) \leq 2^{\frac{r}{2}-1} \| |P|^r + |Q|^r \| - \inf_{\|x\|=1} \xi(x),$$

where $\xi(x) = 2^{\frac{r}{2}-1} \langle (|P| - \langle |P|x, x \rangle|^r + |Q| - \langle |Q|x, x \rangle|^r)x, x \rangle$. \square

The following result is the generalization and refinement of second inequality (5) for $\xi(x) > 0$.

Theorem 3.6. Let $T \in \mathcal{L}(\mathcal{H})$ with Cartesian decomposition $T = P + iQ$ and let $r \geq 2$. Then

$$w^r(T) \leq \frac{1}{2} \| |P + Q|^r + |P - Q|^r \| - \inf_{\|x\|=1} \xi(x),$$

where $\xi(x) = \frac{1}{2} \langle (|P + Q| - \langle |P + Q|x, x \rangle|^r + |P - Q| - \langle |P - Q|x, x \rangle|^r)x, x \rangle$.

Proof. Let $x \in \mathcal{H}$ be any unit vector. Then

$$\begin{aligned} &|\langle Tx, x \rangle|^r \\ &= (\langle Px, x \rangle^2 + \langle Qx, x \rangle^2)^{\frac{r}{2}} \\ &= \frac{1}{2^{\frac{r}{2}}} (\langle (P + Q)x, x \rangle^2 + \langle (P - Q)x, x \rangle^2)^{\frac{r}{2}} \\ &\leq \frac{1}{2^{\frac{r}{2}}} \times 2^{\frac{r}{2}-1} (|\langle (P + Q)x, x \rangle|^r + |\langle (P - Q)x, x \rangle|^r) \\ &\text{by the convexity of the function } f(t) = t^{\frac{r}{2}} \text{ on } [0, \infty) \\ &\leq \frac{1}{2} (\langle |P + Q|x, x \rangle^r + \langle |P - Q|x, x \rangle^r) \\ &\leq \frac{1}{2} \left[\langle |P + Q|^r x, x \rangle - \langle |P + Q| - \langle |P + Q|x, x \rangle|^r x, x \rangle + \langle |P - Q|^r x, x \rangle - \langle |P - Q| - \langle |P - Q|x, x \rangle|^r x, x \rangle \right] \\ &= \frac{1}{2} \left[\langle (|P + Q|^r + |P - Q|^r)x, x \rangle - \langle (|P + Q| - \langle |P + Q|x, x \rangle|^r + |P - Q| - \langle |P - Q|x, x \rangle|^r)x, x \rangle \right], \end{aligned}$$

where the second inequality follows from Lemma 2.4, and the third inequality follows from Lemma 2.5. Taking supremum over $x \in \mathcal{H}$ with $\|x\| = 1$ on both sides we have

$$w^r(T) \leq \frac{1}{2} \| |P+Q|^r + |P-Q|^r \| - \inf_{\|x\|=1} \xi(x),$$

where $\xi(x) = \frac{1}{2} (\| |P+Q| - \langle |P+Q|x, x \rangle \|^r + \| |P-Q| - \langle |P-Q|x, x \rangle \|^r) x, x$. \square

In Theorem 3.7, we present an upper bound for numerical radius of sum of operators but with the Cartesian decomposition.

Theorem 3.7. Let $T_i \in \mathcal{L}(\mathcal{H})$ with Cartesian decomposition $T_i = P_i + iQ_i$ for $i = 1, 2, \dots, n$ and let $r \geq 2$. Then

$$w^r\left(\sum_{i=1}^n T_i\right) \leq n^{r-1} 2^{\frac{r-1}{2}} \sum_{i=1}^n \left[\| |P_i|^{2r} + |Q_i|^{2r} \| - \inf_{\|x\|=1} \xi(x) \right]^{\frac{1}{2}},$$

where $\xi(x) = \langle (|P_i|^2 - \langle |P_i|^2 x, x \rangle)^r + |Q_i|^2 - \langle |Q_i|^2 x, x \rangle \rangle x, x$.

Proof. Let $x \in \mathcal{H}$ be any unit vector. Then

$$\begin{aligned} & \left| \left\langle \sum_{i=1}^n T_i x, x \right\rangle \right|^r \\ & \leq \left(\sum_{i=1}^n (\langle P_i x, x \rangle^2 + \langle Q_i x, x \rangle^2)^{\frac{1}{2}} \right)^r \\ & \leq \left(\sum_{i=1}^n (\langle |P_i|^2 x, x \rangle + \langle |Q_i|^2 x, x \rangle)^{\frac{1}{2}} \right)^r \\ & \leq n^{r-1} \sum_{i=1}^n (\langle |P_i|^2 x, x \rangle + \langle |Q_i|^2 x, x \rangle)^{\frac{r}{2}} \\ & \leq (\sqrt{2n})^{r-1} \sum_{i=1}^n (\langle |P_i|^2 x, x \rangle^r + \langle |Q_i|^2 x, x \rangle^r)^{\frac{1}{2}} \\ & \leq (\sqrt{2n})^{r-1} \sum_{i=1}^n \left[\langle |P_i|^{2r} x, x \rangle - \langle |P_i|^2 - \langle |P_i|^2 x, x \rangle \rangle^r x, x + \langle |Q_i|^{2r} x, x \rangle - \langle |Q_i|^2 - \langle |Q_i|^2 x, x \rangle \rangle^r x, x \right]^{\frac{1}{2}} \\ & = (\sqrt{2n})^{r-1} \sum_{i=1}^n \left[\langle (|P_i|^{2r} + |Q_i|^{2r}) x, x \rangle - \langle (|P_i|^2 - \langle |P_i|^2 x, x \rangle)^r + |Q_i|^2 - \langle |Q_i|^2 x, x \rangle \rangle x, x \right]^{\frac{1}{2}}, \end{aligned}$$

where the second inequality follows from Lemma 2.2, for $\mu = 1$, the third inequality follows from Lemma 2.6, the fourth inequality follows from Lemma 2.6, and the fifth inequality follows from Lemma 2.5.

Taking supremum over $x \in \mathcal{H}$ with $\|x\| = 1$ we have

$$w^r\left(\sum_{i=1}^n T_i\right) \leq n^{r-1} 2^{\frac{r-1}{2}} \sum_{i=1}^n \left[\| |P_i|^{2r} + |Q_i|^{2r} \| - \inf_{\|x\|=1} \xi(x) \right]^{\frac{1}{2}},$$

where $\xi(x) = \langle (|P_i|^2 - \langle |P_i|^2 x, x \rangle)^r + |Q_i|^2 - \langle |Q_i|^2 x, x \rangle \rangle x, x$. \square

For $n = 1$, we have the following result.

Corollary 3.8. Let $T \in \mathcal{L}(\mathcal{H})$ with Cartesian decomposition $T = P + iQ$ for $r \geq 2$. Then

$$w^r(T) \leq 2^{\frac{r-1}{2}} \left[\| |P|^{2r} + |Q|^{2r} \| - \inf_{\|x\|=1} \xi(x) \right]^{\frac{1}{2}},$$

where $\xi(x) = \langle (|P|^2 - \langle |P|^2 x, x \rangle)^r + |Q|^2 - \langle |Q|^2 x, x \rangle \rangle x, x$.

In the following theorem, we obtain a different upper bound for numerical radius of sum of operators but with the Cartesian decomposition.

Theorem 3.9. Let $T_i \in \mathcal{L}(\mathcal{H})$ with Cartesian decomposition $T_i = P_i + \mathbf{i}Q_i$ for $i = 1, 2, \dots, n$ and let $r \geq 2$. Then

$$w^r\left(\sum_{i=1}^n T_i\right) \leq n^{r-1} 2^{\frac{r}{2}-1} \sum_{i=1}^n \left[\| |P_i + Q_i|^{2r} + |P_i - Q_i|^{2r} \| - \inf_{\|x\|=1} \xi(x) \right]^{\frac{1}{2}},$$

where $\xi(x) = \langle (\|P_i + Q_i|^2 - \langle |P_i + Q_i|^2 x, x \rangle)^r + \|P_i - Q_i|^2 - \langle |P_i - Q_i|^2 x, x \rangle)^r x, x \rangle$.

Proof. Let $x \in \mathcal{H}$ be any unit vector. Then

$$\begin{aligned} & \left| \left\langle \sum_{i=1}^n T_i x, x \right\rangle \right|^r \\ & \leq \left(\sum_{i=1}^n (\langle P_i x, x \rangle^2 + \langle Q_i x, x \rangle^2)^{\frac{1}{2}} \right)^r \\ & \leq \left(\sum_{i=1}^n \left(\frac{1}{2} (\langle (P_i + Q_i)x, x \rangle^2 + \langle (P_i - Q_i)x, x \rangle^2) \right)^{\frac{1}{2}} \right)^r \\ & \leq n^{r-1} 2^{\frac{-r}{2}} \sum_{i=1}^n (\langle (P_i + Q_i)x, x \rangle^2 + \langle (P_i - Q_i)x, x \rangle^2)^{\frac{r}{2}} \\ & \leq n^{r-1} 2^{\frac{-r}{2}} \sum_{i=1}^n (\langle |P_i + Q_i|^2 x, x \rangle + \langle |P_i - Q_i|^2 x, x \rangle)^{\frac{r}{2}} \\ & \leq n^{r-1} 2^{\frac{r}{2}-1} \sum_{i=1}^n (\langle |P_i + Q_i|^{2r} x, x \rangle + \langle |P_i - Q_i|^{2r} x, x \rangle)^{\frac{1}{2}} \\ & \leq n^{r-1} 2^{\frac{r}{2}-1} \sum_{i=1}^n \left[\langle |P_i + Q_i|^{2r} x, x \rangle - \langle \| |P_i + Q_i|^2 - \langle |P_i + Q_i|^2 x, x \rangle \|^r x, x \rangle \right. \\ & \quad \left. + \langle |P_i - Q_i|^{2r} x, x \rangle - \langle \| |P_i - Q_i|^2 - \langle |P_i - Q_i|^2 x, x \rangle \|^r x, x \rangle \right]^{\frac{1}{2}} \\ & = n^{r-1} 2^{\frac{r}{2}-1} \sum_{i=1}^n \left[\langle (|P_i + Q_i|^{2r} + |P_i - Q_i|^{2r}) x, x \rangle \right. \\ & \quad \left. - \langle (\| |P_i + Q_i|^2 - \langle |P_i + Q_i|^2 x, x \rangle \|^r + \| |P_i - Q_i|^2 - \langle |P_i - Q_i|^2 x, x \rangle \|^r) x, x \rangle \right]^{\frac{1}{2}}, \end{aligned}$$

where the third inequality follows from Lemma 2.6, the fourth inequality follows from Lemma 2.2, the fifth inequality follows from Lemma 2.6, and the sixth inequality follows from Lemma 2.5.

Taking supremum over $x \in \mathcal{H}$ with $\|x\| = 1$ we have

$$w^r\left(\sum_{i=1}^n T_i\right) \leq n^{r-1} 2^{\frac{r}{2}-1} \sum_{i=1}^n \left[\| |P_i + Q_i|^{2r} + |P_i - Q_i|^{2r} \| - \inf_{\|x\|=1} \xi(x) \right]^{\frac{1}{2}},$$

where $\xi(x) = \langle (\| |P_i + Q_i|^2 - \langle |P_i + Q_i|^2 x, x \rangle \|^r + \| |P_i - Q_i|^2 - \langle |P_i - Q_i|^2 x, x \rangle \|^r) x, x \rangle$. \square

Acknowledgements

The authors thank the referee for the valuable suggestions and comments on an earlier version. Incorporating appropriate responses to these in the article has led to a better presentation of the results.

ORCID

Satyajit Sahoo <http://orcid.org/0000-0002-1363-0103>

References

- [1] M. El-Haddad, F. Kittaneh, *Numerical radius inequalities for Hilbert space operators. II*, Studia Math. **182** (2007), 133-140.
- [2] T. Furuta, J. Mičić, J. Pečarić and Y. Seo, *Mond–Pečarić method in operator inequalities*, Element, Zagreb, 2005.
- [3] K. E. Gustafson, D. K. M. Rao, *Numerical range: The field of values of linear operators and matrices*, Universitext, Springer, New York, NY, USA, 1997.
- [4] U. Haagerup, P. de la Harpe, *The numerical radius of a nilpotent operator on a Hilbert space*, Proc. Amer. Math. Soc. **115** (2) (1992), 371-379.
- [5] G. H. Hardy, J. E. Littlewood, G. Polya, *Inequalities*, 2nd ed, Cambridge University Press, Cambridge, 1988.
- [6] T. Kato, Notes on some inequalities for linear operators, *Math. Ann.*, **125** (1952), 208–212.
- [7] M. Kian, *Operator Jensen inequality for superquadratic functions*, Linear Algebra Appl. **456** (2014), 82-87.
- [8] F. Kittaneh, *Notes on some inequalities for Hilbert space operators*, Publ. Res. Inst. Math. Sci. **24** (1988), 283-293.
- [9] F. Kittaneh, *A numerical radius inequality and an estimate for the numerical radius of the Frobenius companion matrix*, Studia Math. **158** (2003), 11-17.
- [10] F. Kittaneh, *Bounds for the zeros of polynomials from matrix inequalities*, Arch. Math. **81** (5) (2003), 601-608.
- [11] F. Kittaneh, *Numerical radius inequalities for Hilbert space operators*, Studia Math. **168** (2005), 73-80.
- [12] N. C. Rout, S. Sahoo, D. Mishra, *Some A-numerical radius inequalities for semi-Hilbertian space operators*, Linear Multilinear Algebra, **69** (2021), 980-996.
- [13] S. Sahoo, N. Das, D. Mishra, *Numerical radius inequalities for operator matrices*, Adv. Oper. Theory **4** (2019), 197-214.
- [14] S. Sahoo, N. Das, D. Mishra, *Berezin number and numerical radius inequalities for operators on Hilbert spaces*, Adv. Oper. Theory, **5** (2020), 714-727.
- [15] S. Sahoo, N. C. Rout, M. Sababheh, *Some extended numerical radius inequalities*, Linear Multilinear Algebra, **69** (2021), 907-920.
- [16] K. Shebrawi, H. Albadawi, *Numerical radius and operator norm inequalities*, J. Inequal. Appl. 2009, Art. ID 492154, 11 pp.
- [17] A. Zamani, *A-numerical radius inequalities for semi-Hilbertian space operators*, Linear Algebra Appl. **578** (2019), 159-183.